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Intermediate Part Second

MATHEMATICS (Objective) Group — Il
Time: 30 Minutes

You have four choices for each objective type question as A, B,

Marks: 20
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W
3
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C and D. The choice which you think is eorrect, fill the

relevant circle in front of that question number on compuierized answer sheel. Use marker or pen to fill the circles.

Culting or filling two or more circles will result in zero marks in that question, Attempt as many questions as given in

objective type question paper and leave other circles blank. ___; W
s#l Questions A B B | D |
| 1 | The suitable substitution for Vx? —a® to sanint sl ceatintl | w=noob
i ___| be integrated: by
(ax +b)™! (ax +b)™! {ax + b)™* a(ax +b)™!
| Ry = .
%_. J (ax + bY Qx 3 rre i W - ke S5=5 P
3 | jfi=cos2x dx=: ~NZeosx+c| 2sinx+e J2cosx+c |-+2sinx+c
4 i jex(%'*f“x]d?ﬁi —l—e" +c e (nx)+c oL 05 »¢
I d -“ a=in n-l n+l
E 5 dx(y )=% ny ny
6 | @ = a3 3
| dx : _
|
L 7 1If I'(x}ux—]_——l-,thcn f'(2) =: -1 i
1 8 | f(x)= -3x* has maximum value at: ) _ x=1
T_‘_ 3y l Neither even
! 9 | The function f(x)=(x+2)"is: _ Both AandB | 44
. . - =4
| Lim T i 4
[ 10 | Ty Q+3F = ¥/ e o
1 | Gxkx=: : 0 i
o £
12 jcosaj +sinaj+0kj=: 2 -1
13 |1f a+b+c=0 thawal a-b=b-c=c-a a=b=¢
14 4,0 (-4.,0)
15 r=1 r=0 T r=2 r=3
16 e=0 exl D<e<l e=1
17 | The point (1 , 2 ) satisfies the inequality: x-y>4 x-yz4 x+y<4 X+y>3
18 Equation of horizontal line through y=-B =7 inpcil e
(7.-9)is:
19 If m, and m are the slopes of two lines g =0 mymg +1=0 myitiy +2=0 ———
| then lines are perpendicular if: l
| o
I\l[l Distance of point (1,-2) from y-axis is: 2 4 1 3 4 B
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Intermediate Part Second

MATHEMATICS ( Subjective )
Time: 02:30 Hours Marks: 80

£ r/ RoliNo._____

Group — 11

e

L

SECTION -1
Attempt any EYGHT parts:

W I‘(x}zi:_':zz ’ :;i-—ll’ then find ¢ so that xlf;n-l

Lim x Y
=20 |l+x
(i) I g[:f.}a-f_—]- L %=1 ; then find gog(x)

._:,lx i is even or odd.
A

f{x)exists.

(i) Evaluate

Determine whether F(x)=

()

2x-3

2x+1
s oo 1
(vi) Find a{‘lr.‘{-_—ﬁ+g and y =90+

(v) Differentiate

w.rl X

(vii) Differentiate cosvx +fsinx wort x
(viii) Differentiate Jtanx word x
(ix) Find F(x}if f(x)=£n(e™ +e7)
(x) Yind yyif %y =g’

2 A b
(xi) Prove thal cosx -:I---"E-in-i;‘-jﬂ--xg-i-

. Attempt any EIGHT parts:

o
{xii) Determine the interval in which f(x)=sinx is decreasing; x EI"(--T!,E:I 00

{iy  Find dyand &y for the function y= Jx when x changﬁfmg

(i)  Evaluate I(3x3 ~2x+hdx

. p 1- xz \
(iii) Fvaluate the integral J'l - dx *
*I x 0

(iv) Evaluate [x*fnx dx

: 23
Evaluate [ i 5 dx
—4

X2

(vi) Solve the definitaniginy Nde
n KC'

(v

16

O

16

{vii) Find the area bn‘ s and the curve y=cos%x from x=-R o X=7
{viii) Find “hos s A(=1,h), B(3,2)and C(7, 3) are collinear.

helination of the line joining the points (4 , 6)and (4, 8).
Bjuation of line through (=4, 7) and parallel o the line 2x -~ Ty + 4

{ix) Findg
(x) Find
(xi) Check

(xii) Find the angle berween the pair of lines x* +2xyseca + ¥ =0

=0

other the lines 4x — 3y ~8=0;3x -4y — 6= 0and x -y —2 = 0 are concurrent or not.

( Continued P/2)



4. Attempt any NINE parts:

B

FSD-2-3%

(i) Indicate solution set of linear inequalities 3x + 7y 221, x—y=2

(i) Define optimal solution.

(iii) Find center and radius of the circle x? +y? ~6x +dy+13=0

(iv) Find length of tangent drawn from point (-5, 4) to the circle 5x* +5y* ~10x +15y—~131=0
(v) Find the vertex and directrix of parabola x* = Sy

(vi) Find equation of ellipse with data vertices (1, 1),(5,1) Foci: (4,1),(0, 1)
{vii) Find cquation of hyperbola with data Foci (0,£9), directrices y =+£4

xZ 2
(viii) Find equation of normal to =5~ -':T =1 at (asec,btanf)
a

{ix} Find unit vector in the direction of vector g = -P-Jj— -=j

1,
"

(x)} Find direction cosines of vector v =6i - -2j+ k

(xi) Show that the set of points P(1, 3, 2), Q(4, 1, 4) and R(6, 5, 5) forms a right triangle.
(xii) Compute cross product bxaif a=3i-2j+k, b=1i+j

{xiii} Prove that vectors L"?-_J_+3E, -2+ 3;;1 4k , l"34+55 are coplaner.

J. " SECTION —II  Attempt any THREE questions. Each questioficaigor. L0 marks.

(b)Find

7. (a)Evaluate

(b)Graph the feasibling

(b)Prove t

9. (a)Find
(b)Find the

. (@)If F(x) :{

N2x+5 =x+7

= ERE—i

x-2 » X#2_ find the value of ‘k’ for WEIQH"IM‘M atx=2.
k ,X=2

%1, if y= xsin"(§]+ﬂaz—x1

X
. (a)Show that y = x* has minimum value at x -*\
(b)Evaluate the indefinite integral ]'s;'

COSX
sin X(2 + giney :m

mequahtlcs and find corner points:

2x+3y <18 ; x+4y<12
. (a)Find an equati &rﬂl passes!hruughA(S 1) and tangent to line 2x —y = 10 =0 at B(3 , -4)

a semi-circle is a right angle.

us, Vertex and directrix of the parabola; y* = -8(x—3)

s represented by 9x% + 24xy +16y” =0 and also find measure of the angle between them.
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